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ill in the tables WITH RATIONAL VALUES and use them to create a graph. Since we are graphing functions in
| nction notation — f(x), etc — they are continuous functions (What does that mean?)) Use your graphs to answer
the questions. You will be asked questions about the relationships/among these graphs, so be sure to note why

things change, not just how. Cmv\er,{’ te dats /
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Will this graph ever touch the x-axis? Why or why not?
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Graph f(x) from the previous page with a light, dashed curve, then plot g(x) below with a solid curve.
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What are the similarities between f(x) and g(x)? Be specific.
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What is different? What rransformation occurred? ’
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Graph f(x) from the first page with a light, dashed curve, then plot k(x) below with a solid curve.
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What is different? What transformation occurred?
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with a solid Icnrve.

Graph f(x) from the first page with a light, dashed curve, then plot h(x) below
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predict the transformations that that will be applied to the parent function. List them in the order that they will
occur (think PEMDAS!!!)
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Plot points and graph f(x) = 2* lightly with a dashed curve. Then use the transformations to plot t(x) = 3(2)’—] -8
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9. Simplify/evaluate without a calculator.
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Will this graph ever touch the x-axis? Why or why not?

e aill aat deack s X—axisS ., e nwnerbon o€ tle A_N;e(d'\\ rf;‘ol‘cs‘k/{"”b

W) will newer Le zeo, 50 W) will revar le 2o,
If not, is there an asymptote? What would its equation be?
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